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Computer Related HFIE et A

Knowledge
1. Which one is a Supercomputer? 1. ffafad @ i 1 g P 82
A. INTEL A, 3
B. MINI B fift
C. PARAM C. T
D. MICRO D. wSsh
2. Storage capacity of DVD is- 2. Sttt TuRoT it SHdT Bl B-
A. Greater than CD A. @ o samET
B. Lessthan CD B. @Sia+y
C. Equalto CD C. @it aaH
D. None of the above D. IR S T
3. Arithmetic operations are carried out in- CRR UG EE D R B LG 3 S [ I S— |
A. RAM A. T (RAM)
B. Secondary storage B. el AE
C. CU C. 1y
D. ALU D. QQQ:W{\
4. Shortcut key for copy in windows is-. 4. fSis 4 ot Y witdehe it 2-
A. Curl+A A. Cul+A
B. Curl+B B. Ctrl+B
C. Cul+C C. Ctrl+C
D. Ctrl+Z D Ctrl+7Z
5. Aformulain EXCEL starts with ------. ST G RIS 2 ) LA — BRG]
A > B. = A > B =
C. < D.? C. < D.?
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6. Quick Heal is a-
A. Operating system
B. Antivirus software
C. Programming language
D. Type of virus

7. Google chrome is-
A. Search engine
B. Browser
C. Web server
D

. Internet

8. Scanner is-
A. Output device
B. Input device
C. Storage device

D. None of the above

9. This is not a function category in
EXCEL-

A. Logical
B. Data series
C. Financial
D. Text

10.  The brain of the computer is-
A. ALU
B. Memory
C. CPU
D. CU

10.

C. Wi feard

D. SR & HI$ Tl

frefarRad & 1 91 Ha et EXCEL
S R

A. TR

B. SRIHS
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11. " Which of the following is an impact 11. f=fafed o & =9 ar gige e 82

printer? A 3

A. Laser

B. Inkjet B. g

C. Dot Matrix C. Erenfesm

D. None of the above D. WKk H ¥ IS el
12, Which is not an operating system? 12.  f=fafaa o o ar s foeen 78 82

A. DOS A. S

B. OFFICE B. 3feq

C. WINDOWS c. i

D. LINUX D fored
13. Computer VIRUS is- 13, FrET I —oen- 8l

A. Software A. TR

B. Hardware B. TEa¥

C. Memory c. O

D. System software D foeg T
14.  MS Word is a part of which package? 14. MS Word forar kst =1 feear 22

A. MS DOS A. WWTHEH

B. MSPPT B. THugdidte

C. LINUX oy -

D. MS Office D. Uy iR
15. ROM is- 15. 9 (ROM) 2-

A. Permanent memory A. Tl A

B. Temporary memory B. 37earh A

C. Secondary memory C. ey i

D. All of the above D 35 oft

SPACE FOR ROUGH WORK / % &Td & for@r si1e
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16.

17.

18.

19.

20.

Technique to assist professionals in
decision making-

A. Al

B. Expert System
C. Java

D. ANN

Windows have which interface?
A. Character user interface
B. Command user interface
C. Graphical user interface

D. Open source interface

WWW is-

A. Web Wide World
B. Wide Web World
C. Wide World Web
D. World Wide Web

YOUTUBE is -

A. Search engine
B. Social Media Platform
C. Website
D

. Programming package

Multimedia is a form of ---------
platform

A. Programming language
B. Operating system

C. Application program
D. Communication

16.

17.

18.

19.

20.

oo 11 forIsST ot fof o o wewre
gl 8-

A T

B. TS foeen

C. Sar

D. TuiTEd

foEIST 3 UTE I ©T $7eTh BIAT 82
A, HERT T FeTHE

B. FHIUS I TH

C. UIthahet IR §-THH

D. 371U A $<Thd

WWW 2-

A. 3 TTES T
B. aTsE 99 dee
C. dsSaTE oF
D. dcg dTse ad
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21.

22.

23.

24.

25.

General Hindi

et T T U 31eg Tt e €

TN | 3T @ -
A
B. ¥

D. &

= =1 Gfer faee =i -
fg -+ 2
A+ T
T
R+

OO0 w >

26.

27.

28.

29.

30.

. 3T (A, B) SHT G
. 39 (A, B) I T

ST T AT o foTq Uep 7o © -

A. ¥

B. sedMa

C. Set\a

D. A

U h G R -
A. 10

B. 11

C. 12

D. 13
‘37T HT AT T & -
A

3
3of
rferaeft
EX|

O O W
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31.  The Prime Minister lives ------------- 34.

General English

10 Downing Street.

Fill in the blank by selecting the correct
preposition to complete the above
sentence.

A
B.
C.
D.

32. |dentify the expression that best 35.

in
at

on

by

transforms the following sentence into
the passive form.

There was somebody following us.

A
B
C.
D

33.  “Claustrophobea’ is one word substitute 36.
for-

A

B
C.
D

We are followed

. We are being followed

We were followed

. We were being followed

fear of narrow or enclosed spaces

. fear of open or public places

fear of heights

. fear or aversion to strangers or

foreigners

The plural of calf is -

A

Which of the following is not a
synonym of ‘apparel’?

A

B
C.
D

B
C.
D

T 3T

Calfs

. Calfes

Calves

. Calvs

clothes

. attire

obvious

. outfit

Identify the gender of the underlined

word in the following sentence.
His favourite toy is a rubber ball.

A

B
C.
D

Masculine

. Feminine

Common

. Neuter

SPACE FOR ROUGH WORK / % &Td & for@r si1e
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‘get in / into someone’s hair’ means-

A. continually annoy someone by
always being near him, asking
questions etc.

B. have a fixed idea in one’s mind

C. master the method of doing
something

D. make oneself a part of something
started by others so as to get some
of the praise

38. Choose the correct alternative to

complete the following.

| know a lot of people. Most of them are
-------- students.

. the students

A

B. astudents
C. some students
D

. nhone of the above

39.

40.

Our new ---------- is printed on recycled
paper.
Fill in the blank by selecting from the

given alternatives to complete the above
sentence.

A. Stationary
B. Stationery
C. Stationory
D. Stationry

Choose the sentence from the given
alternatives that best expresses the
following sentence in indirect speech.

He says, ‘I am glad to be here this
evening’.

A. He says that he was glad to be there
this evening

B. He says that he was glad to be there
that evening

C. Hesays he is glad to be here this
evening

D. He says that he was glad to be here
this evening
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41.

42.

43.

44,

General Mathematics

The sides of similar triangles APQR
and A DEF are in the ratio 5: 6. If area

of APQR isequal to 75cm?, what is
the area of ADEF?

A. 150cm?
B. 90cm?
C. 108cm?®
D. 120cm?

If 40% of a number is 20, then 25% of
that number is

A. 15.2
B. 155
C. 120
D. 125

If (@+b):(b+c):(c+a)=6:7:8 and
a+b+c=14, then the value of ¢ is
A. 6 B. 7

C. 8 D. 14

If the compound interest on a certain
sum for 2 years at the rate of 8% per
annum is Rs. 832. Then what will be the
simple interest at the same rate of
interest for 2 years?

A. Rs. 800
B. Rs. 850
C. Rs. 900
D. Rs. 816

41.

42.

43.

44,

HTHT Ut

ared st APQR 3R A DEF 1 ysif
5 : 6% 3T H 81 I APQR =T &the

75cm? & S & A1 A DEF &l 8%
T R?

A. 150cm?
B. 90cm?
C. 108cm?
D. 120cm?

gfe foreft dam o1 40%, 20 2 91 39 9T
T 25% Tera=T BT

A. 152
B. 155
C. 12,0
D. 125

afe (a+b):(b+c):(c+a)=6:7:8 R
a+b+c=14,dl ¢ T HHE BT

A 6 B. 7

C. 8 D. 14

afe ferelt o 1 8% aTfieh Fr T 2 I =l
Th(eR SATST 832 %, T T SET & T I
U 2 Y ST BTN TS TSR =T BT

A. 800%.

B. 850%.

C. 900%.

D. 816%.

SPACE FOR ROUGH WORK / % &Td & for@r si1e
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45.

46.

47.

Find the Least Common Multiple of
following three fractions
36 48 72

225150 65
A. 144
5
B. 288
5
C. 12
5
D. 36
65

Find value of M +i,
M

if value of M is V75
V7 +5

A 7
B. 12
c. 5
D. 1
12

In the given figure, AB||CD,

ZABO =40° and ZCDO=30°. If
/DOB = x°, then the value of x is

A > B
40°
0]
30°
C > D
A. 35° B. 110°
C. 70° D. 140°

45.

46.

47.

2 TR T 134T 3T e T T
i

36 48 72

225150 65
A. 144
5
B. 288
5
C. 12
5
D. 36
65

M+$ T Y JTd hifSTT,

Vi

3=ITITM=\/7+\/§%
N

12

N3

1
12

o o w >

ferma f=r 9, AB||CD, ZABO =40°
3T /CDO=30° afe ,DOB=x°, dl x

FHAE
A > B

400

0

300
C > D
A. 35° B. 110°
C. 70° D. 140°
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48.

By walking at g of his usual speed a

boy reaches his school 15 minutes later.

48.

@maﬁwwﬁgwﬁls

e T4 Tt U 8l 6o Wt uga

Then find his usual time to reach the T T THT 7 i
school.
A. 125 A. 125
5 2
B. 75 B. 75
2 2
C. 75 C. 75
D. 75 D. 75
N 4
49. /A, /B and £C are three angles of a 49. /A, /B R /C wh s d i e
triangle and 4A+ZB+4C =41°, 3R 4A+4B+4C =410 3, @
4 4 5 4 4 5
then find the value of ZA + /B. /A + /B &1 HH 31d hifs)
C. 100° D. 120° C. 100° D. 120°
50. The Least Common Multiple of two 50. & HeEATeAr 1 ST EEe 1920 81
number is 1920 and their Highest qgﬁ'q‘gjq‘rqaﬁaﬁ 16 %| qﬁqq;g’@n‘ 128 gﬁ'
Common Factor is 16, If one of the .
number is 128 find the other number. Eﬁw FIER
A. 60 B. 240 A. 60 B. 240
C. 120 D. 360 C. 120 D. 360
51. 51.
If x— 1 :l, Then value of (4x2 +i2j afe x——-1 a1, [4x2 +i2j FTHE
X 2 X X 2 X
is T B
A. 9 A 9
B. g B g
4 4
¢ 3 c. 3
4 4
D. % D. 1
4
SPACE FOR ROUGH WORK / T% & o fo1a sirg
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52.  The multiplication of two rational 52. 7 qfHa ST 1 U el BT

number.ls A oid
A. Rational number

: B. i @&
B. Irrational number )
C. Above both (A) and (B) C. STU™H SHI (A) T (B)
D. None of the above D. SWIh § | &g el
53. How many solutions of the given 53. g wHiehoT
simultaneous equations 2x+3y =8
2x+3y =8 4% + 6y =7 % e gt 2R
4X+6y =7
A 1
A 1l
B. 2 B- 2
C. 3 C. 3
D. No solutions D. @IS & 981
54. In an examination 80% students passed 54.  ueh olie 6 80% ferameff Stusi o 3wfivl g,
in English and 70% students passed in 70% TIOT & 9T 10% 37 ST fow=ay o
Maths, 10% students failed in both the ot > Sremreft et
subjects. If 144 students passed in both g Ed I 144 . s:raﬁtﬁ A
the subjects. Find the total number of Seftof gu dt et ferefefart bt s ma
students. Fifsmg
C. 240 C. 240
D. 204 D 204
55.  On selling oranges 5 for Rs. 1 one gets 55. afg 1% o 5 Hal s=n W foreft safw
20% profit. How many oranges were 20% AT Tiretdr 8, 91 38 1 %93 o fora
purchased for Rs. 1? e A
A 4 '
A. 4
B. 3
C. 7 B. 3
D. 6 C. 7
D. 6

SPACE FOR ROUGH WORK / % &Td & for@r si1e
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56.

57.

58.

In the given figure, if OA =5 cm, S6.

AB =8 cm and OD is perpendicular to
AB then CD is equal to

How many numbers between 500 and S7.

1000 are divisible by 6.
A. 63
B. 103
C. 83
D. 113

If a sum of money at simple interest 58.

doubles in 6 years, then in how many
years it will become 4 times?

A. 18 years
B. 14 years
C. 16 years
D. 10 years

e ™ femr |, 9T OA =5 cm, AB = 8cm,
3 OD, AB & dead & dl CD sRIsI 81T

3 cm

4 cm

o o w >

5 cm

500 ® 1000 o si=r 6 & fawrietd e
eIl <t g

A. 63

B. 103

C. 83

D. 113

Ife hIS TR AT suTS Fl ST H 6 99
o AT &1 ST €, A1 foh o 7 4 AT R
ST

A. 18T
B. 14a¥
C. 16a¥
D. 10a¥

SPACE FOR ROUGH WORK / % &Td & for@r si1e

202042-V-REC-XKB 14

Set- A



59. A spherical balloon’s radius increases 59. e TICAThI TToaTi H BT W W 36h! 53

3 times when the air is pumped in it, if 3 T S ST &, Ife 29T 9 5 o1 e
the surface area of the balloon after > : '% ’ >
pumping the air is A, and its surface ik AZ@ZEGT’J@@%@
area before pumping the air is A, , then q¥i e A&, I A—l T HH AT BT
2
what is the value of ﬁ? A 9
A .
2 J—
1
A 9
1 B. 3
B. 3 1
1 c 1
C. 1 3
3 D. 1
D. 1 9
9
60. The price of a cycle is marked at 60. ue drgfehet st Shimd 1150 %. 9T 3iferd i
Rs. 1150. A shopkeeper earns a profit of TS| U TR 311ohd Hed T 15% i &
15% after allowing a discount of 15% > o - S o
on the marked price. Find the cost price FHAE 15% wm i il
of cycle. T He 1l bl
A. 900 A. 900
B. 1000 B. 1000
C. 850 C. 850
61. For what value of k the equations are 61. ko formr o o Torw Tfiertor
coincident X+2y=7 qul
2y =17
)2(;?(’ oy 2x +ky =14
¥ = |t g
A 2
A 2
B. 3
B. 3
C. 4
D. None of the above C. 4 .
D. WKk H ¥ IS Tal

SPACE FOR ROUGH WORK / % &Td & for@r si1e
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62.  Arrange this order starting with least. 62. =E % | [T F HEAA I SQd HH

32,4/100,4%,4/80 e

32,100, 42,/80
A. f80, 32,4100, 42

A. 80, 32,4100, 4
B. 32,4100, 4%,4/80

C A , B. 3?,4100,4% /80
. 4?,/80,/100,3

C' 42!'\/8_01'\/:@132
D. 100,32, 4% 480
D. 100,3?%, 4%, /80

63. Solve :- 63. g HifST ;-
7,311 (Ej 7.3 1 1 (3Y
8 5 5 4 (2 85 5 4 (EJ
A 2E A 22
40 40
B 3g B. 3E
40 40
c. ,13 c. ,13
40 40
D 5E D. 5E
40 40
64.  How much will be the average of the 64. gTeRd AT 1 | 40 a1 T STA fohaT
squares of Natural number from 1 to 40. g
A. 226.25 A. 22625
B. 553-5 B. 553‘5
C. 725 C. 725
D. 661.8 D. 661.8

SPACE FOR ROUGH WORK / % &Td & for@r si1e
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65.

66.

67.

68.

If the square of the sum of two numbers 65.

is equal to 4 times of their product, then
the ratio of these numbers is

A 2:1

B. 1:2
C. 1:1
D. 1:3

If 66.

332 4
( )pgxp L

then find the value of r.
A.

r

1
B. 2
c. 1

2

0

D.

If the radius of a cylinder is doubled and 67.

the height remains same, then the
volume will be

A. doubled
B. four times
C. same

D. halved

The ratio of length and breadth of a 68.

rectangular plot is 8 : 5 respectively. If
the breadth is 60 metre less than the
length, what is the perimeter of the
rectangular plot?

A. 260 meter
B. 500 meter
C. 520 meter
D. 1600 meter

fehret &1 EEATSHT o ART T T, ITeh IS
% 4 T o SR &, Tl ST 3 ST
J1d

.2

A 01
B. 1:2
C. 1:1
D. 1:3
gfe
32>< 4
(|0)9|o:IO

r

2
1
2

D. 0
e weh sie <ht e g R €t ST ST
SIS EHH & A1 SEehT 3T 8T

A. 3T

B. IR

C. g9

D. 3

Teh ATIATRR TS Shi ASTS Ue TSTS oh

AT 8 : 5 2 Al <ASTE TS & 60 HeX

& 2| Al TR WATE hT TIATT fohaHT 22

A. 260 HieX
B. 500 #HteT
C. 520X
D. 1600 Htex

SPACE FOR ROUGH WORK / % &Td & for@r si1e

202042-V-REC-XKB 17

Set- A



69. Find out the value of the given fraction 69. for T for=T =T A JTa SIS |

22x42x 22 22,4115

373713 34373
A. 40 A. 40
B. 55 B. 55
3 3
C. 29 C. 29
3
D. 89 D. 89
3 3

70.  Find the value of 70. O 3Ta i

(1296)°7° x (36) ™ (1296)%7° x (36) ™ &1

A 4 A 4
B. 6 B. 6
C.8 C. 8
D. 10 5 10

SPACE FOR ROUGH WORK / % &Td & for@r si1e
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General Mental Aptitude

7L 1O denotes ‘medical store’,

A denotes ¢ grocery shop’, 00 denotes

“fruits shop’, T denotes ‘general store’
and number inside these indicating their
total numbers, then which is minimum?

3

N
8

4 (s
\79

Medical store

Grocery shop
General store

OO0 w»

Fruits shop

72. Find the missing number in the 2.

following square
12 |32 |62
22 |52 |82
42 |2 |92

A 27 B. 84
C. 49 D. 72

73. The number opposite to face ‘4 is 73.

.I!nIIIIIII"/‘ fll7 Wl w7
3

B. 2
C. 1
D. Can’t be determined

71.

HTHTT AR JEdaT

afy O ¢ A e, A &
b, O & we g, O 8 S
TV AT ok AL hl AT ITh! T
AT 1 Yo ! €, Tl shi AW 27

3

N

4 (s
\7

U 0O W >

. gfegrd &R
. TR gEE
. SA TR

BT Gohld
)

Forer ot & Fareqw i e iR

12

32

62

22

52

82

42

?

92

A
C.

27
49

B. 84
D. 72

Tg <4’ o foodia w2

O 0 W >E=
=T

2
1

47 &7 4 &7
W7 W7 W7 w7

. Trerifea 7t foma s aepar

SPACE FOR ROUGH WORK / % &Td & for@r si1e

202042-V-REC-XKB 19

Set- A



74.

75.

76.

‘ ) ‘ )
If A\ means ‘., [0 means ‘x’,
‘ ) [ )
O means ¢+’ and <O means ‘+ then

25AQ5A5014527="7
A 12
B. 0

C. 25
27

D. None of these

Which of the following is different from 75.

the other three?

A. Odd number

B. Even number

C. Prime number

D. Confusing number

Select a suitable figure from the answer 76.

figure that would complete the question
figure :

A A A
0|B| &
allelk

Question Figure

g6 ||

1 2 3 4
Answer Figure

o O w >
~ow N

74.

afy A wmraedd o, O wradd, o«
O wraagd g = qur O wrad g+,
GE]

25AQ5A5014527="7
A 12

B. 0

C. 25
27
D. 378 ¥ s Tl

T 9 @ @ o= i | e 22
A. o g

B. @9 dEAT

C. 39Sy g&am

D. YA §&T

IR o= & Uk SUh Tort [ STt s oy o
TS

A AL
=
Nal| ¢

s formr

o o w >
[\
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77. If“1” is represented by ‘—’, ‘4’ is 77. g ‘— grr FRefud gare <17, £ ° g/

represented by £, and ‘9’ is
represented by 2\, then 16’ is

represented by

A.Q

Foreftra 2 & <4, dem A\ g Fefid g 2
‘o’ qe 2 g fAEfua g <16

A.Q

B. B.

C. C.

> P > P

78. Find the missing term of the series 78.  gyuft =T foeqH Ug 1 HiRg

6,12, 30, ?, 132, 182 6,12, 30, 2,132,182

A. 60 A. 60

B. 61 B. 61

C. 56 C. 56

D. 66 D. 66

79. Find the missing number in the 79. {7 3 # forqqe & 91 ifsg
following square.
6421
6421 43|33
4131313 2443
2[4]4]3 22 a6
2l2]4]6
A 0

A. 0

B 1 B. 1

C. 2 C. 2

D. 5 D. 5
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80. If‘CAPITAL’ is coded as ‘LATKPAC’,
then ‘ROMANIA’ will be coded as

A. AINAMOR
B. ORAMINA
C. AIMANOR
D. AINCMOR

8l. If‘COPY’ is coded as ‘3677’ and
‘PULP’ is coded as ‘7337’, then
‘UKRAIN’ will be coded as

A. 329195
B. 327175
C. 329175
D. 337175

82. Which of the following will be the next
letter digit figure?
A |

3 10 16 ?

22

22

21

21

80. 3fd ‘CAPITAL’ 1% & ‘LATKPAC’,
st ‘ROMANIA’ 3l %2 BT

A. AINAMOR
B. ORAMINA
C. AIMANOR
D. AINCMOR

81. 3fg‘COPY’ # %2 & 3677 qT ‘PULP’
FTF T 7337, T ‘UKRAIN’ T %
g
A. 329195
B. 327175

. 329175

C
D. 337175

82. e o 9 I STTCAT SAEIL-3ieh =1 g2
A D |
3 10 16 ?

22

22

21

21
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83.  Number of triangles in the following

figure is
\

©Cow>
[EEN
o

None of these

84. Find the next term of the series.
3,10, 24, 50, 120, ?

A. 160
70
90
69

O O w
[T S ==

85.  Which will be the missing figure?

) ) - (U8
Eleate

D

<5

¢

¢

O
o

(BB

83.

84.

85.

Forer o & Pty o1 e

11
10
13

U U 1S e

o w >

Ui} ST STTAT IS JTd hIFSTT
3,10, 24, 50, 120, ?

A. 160
B. 170
C. 190
D. 169

ferew fom =k @ BT

(872

D,

B. %
&

C.

D. %
&

eenles
"
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General Knowledge

86. On which date "Prime Minister Awas 86.

Yojana-Gramin” (PMAY-G) was
launched by the Central Govt. of India?

A. 25" December 2000
B. 2" October 2014

C. 7" September 2005
D. 26" November 2016

87. Who remained the Governor General of a7.

India even after independence?
A. Louis Mountbatten

B. Archibald Wavell

C. Victor Hope

D. Freeman Freeman-Thomas

88. Rancidity of butter is prevented by 88.

adding:

A. Tocopherol

B. Vitamin D

C. Butylated hydroxyanisole (BHA)
D. All of the above

89. Which act is known as 'black-bill'? 89.

A. Rowlatt Act
B. Pitt's India Act
C. The Regulating Act

D. Indian Council Act

AT AT

VIl oh sl HThTL o SR “ TR
ST ATSHT — ATHTOT* ST JMESAT hl -

25 feETs 2000
2 FFES 2014
7 T’ 2005
26 TR 2016

o w >

SATSITET o S8 +ft R T T ST Shid
CRIREI

A. TR TR
B. 3TefiaTee aad
C. fometem

D. e hiaa-ofe

TeRg i forghd-ierar e ot foreTeRt Teht
SIR:ETS RS

A. RIS
B. feerfim-D
C. SIS ErEgdll UfETeT (BHA)
D. TR Tt

fore Stferfam =Rl soteh-foret & 19 & ST
SIGIEY

A. Tae TR

B. fue = vma sAferfem

C. Ty uae

D. R ftwg sttty
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90.

91.

92.

93.

Which state has highest Sex-ratio in 90.

India as per census 2011?
A. Kerala

B. Tamil Nadu

C. Chhattisgarh

D. Manipur

Equinox comes on- 91.

A. 21 March and 23 September
B. 21 March and 22 September
C. 21 June and 22 December
D. 22 June and 21 December

What is correct about establishment of a 92.

common High Court for two or more

states?

(i) Parliament by law establish a
common High Court for two or
more States

(if) President by order establish a
common High Court with the
consultation of Chief Justice of
Supreme Court for two or more
States

A. (i) is correct
B. (ii) is correct
C. (i) & (ii) both are correct
D. (i) & (ii) both are wrong

How many states have less percentage 93.

of households, using clean fuel for
cooking, than National level of India as
per NFHS-5 (2019-21)?

A 21 B. 20
C. 19 D. 22

a9 201 1 =T SO o TR WA H g
TS shi AT Hert 311ereh &2

A. A
B. dffeHTg
C. saee
D. AR

o & g-

A. 219 ug 23 fadst

B. 219 g 22 fider

C. 21 SH ud 22 fews

D. 22T 21 fadsr

a1 feres Tl o fore weh € 3=

AT ST TATIHT o foree 7 Tt o &2

() @z fafer grr ey a efees Tt & forw
Teh & 35 =T shi TTOHT Syt

(i) Trguld, TaT=a =TT o &
TefieT 3 TSt O Uk TS g Al

7 31fere U=l o fole U & 3=
TATAT <hT TATAT BT

A. () TR
B. (ii)&&l?
C. (i) 3R (ii) ST &t &
D. (i) 3 (ii) <1 et &

TG qTRETTGE T8 T9&-5 (2019-21)
HTHT, AT o TSR &R A, T T3
WIS Teh o ToTU 3788 4 3T STaRT 3 @
22

A 21
C. 19

B. 20
D. 22
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94.  The Xylem in plants are responsible for: 94. AUt ¥ SEey STERR ©:
A. Transport of water A. ST kT IEET
B. Transport of amino acid B. UHHT 3TFT o1 Iiiae
C. Transport of food C. T IiEeT
D. Transport of oxygen D. TS &1 aiEeT
95.  Which was the first fort made by British 95. fymferfad & & shET wRd | ST g/
ruler in India? Tt uga foretr am?
A. Fort William A. B ooy
B. Fort St. George B. B Ue Ss
C. Fort St. David C. By
D. Fort St. Angelo D qﬁé@z@?ﬁ
96. What matches in the context of 96. HeT FHeleAT o Haw H R AT 872
fgndamental duties? _ _ ) WF@%@WWE
(i) To preserve the rich heritage of TR AT
Indian culture -
(i) To protect the natural environment (i) STTepfereh TaferCoT T TaAT <Rt
iii) Protection of Environment iii &I AT
(iii) ion of Envi (iii) TRTEOT
(iv) To safeguard public property (iv) WTeISTieh iy shl T&fT i
A (Q. (l!?_, ("!) A. (i), (ii), (iii)
B. (i), (iii), (iv) B. (i), (iii), (iv)
C. (i), (v), (1) C. (iii), (iv), (i)
97. 'Namami Gange Project' is related to- 97. iy T TGS T Heler B
A. To reduce effect of pollution in A T e H YT oh TS i HH BT
Ganga river B. firgl 1 SUSITa: UH e o iy a1
B. To make soil fertile for agriculture ST )
C. Itis located on Sundarban delta C. %W%@W&%%
D. All of above D. 373 ot
SPACE FOR ROUGH WORK / T &t & fora srire
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98.  The tooth-decay starts when pH of the

mouth is lower than:

A
C.

99. A resistance wire made of constantan is

6.5 B. 7.00
5.5 D. 10.5

an alloy of:

A

100. Whose definition of National Income is

Copper and Zinc

B. Manganese and Nickel
C.
D. Nickel and Chromium

Copper and Nickel

based on Consumption?

A

101. what is the weight of Core Sector
production, in the Index of Industry

Prof. Marshall

B. Prof. Pigou
C.
D. Prof. Simon Kuznets

Prof. Fisher

Production in India?

A.

102. Mangal Pandey belonged to which

42.27 percent

B. 41.27 percent
C.
D. 39.27 percent

40.27 percent

regiment?

A

7" Awadh Regiment

B. 19" Bengal Native Infantry
C.
D. Madras Regiment

34" Bengal Native Infantry

98. &= &R YT BIdT & STelfh J o1 df T

ﬂﬁ%ﬁﬁﬁﬂ@m%

A 658 B. 7.00 &

C. 559 D. 1059

T SR T hReeTe o1 1 g7 & ST foh
ﬁ?&T‘J@%:

A. FTRTF e T

B. IS ud fAferet &

C. &R ud ket 1

D. fiferet wa shiftrem o

. TS ST T TeRmreht ftaTST ST 9T

Tenfea 82

. . mTeter

. S i

. 1. R

. Y. TTEEA Feied

O O w >

. VR o TR I o Geahich H i

TFeT % IATET hT W AT 82
42.27 SceTa
41.27 SaeTa
40.27 ST
39.27 Sfaera

o w >

. T qrue fore Ui & 99

A. 73 sag e

B. 19 i simmret Afea skt
C. 34 df simrer Afea 3
D. wg® {fSe
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103.

104.

105.

The tenure of the President is 5 years.
If before this time the new President
couldn't elect due to some un-avoidable
circumstances what will happen?

A. President will leave his office on
expiration of his term

B. The President will continue to hold
office even after the completion of
his term until his successor takes
charge of the office

C. Vice President will takeover the
charge of President

D. None of the above

What is correct-

When a proclamation of emergency is in

operation-

(i) Fundamental Rights are
automatically suspended except
article 20 and 21

(ii) President by order suspends the
Fundamental Rights except article
20 and 21

A. (i) is correct
B. (ii) is correct
C. (i) & (ii) both are correct
D. (i) & (ii) both are wrong

Which sector has highest contribution in
Gross Value Added of India in the year
2021-22?

A. Agriculture
B. Industry
C. Service
D. Allied Sectors of Agriculture

103.

104.

105.

TeZafel T RIS 5 99 2, Al 36 Td A
STl 3T TS S TG TR eferl o
FIOT R BT AT, T T TTT?

A, Tgafer SToT srfeRtet qof 81 IR ST
e BN <M

B. Trgufer 37O hriehiet Ut &1 S o e
ot e ok U U1 LT T ST deh
U ScaUTHeRRT U TR0T T Tl aT

C. Iwrsgafd, Tsgufe T Ig9R T8
T

D. 3wt H § 1 el

e AT -

STeT SATIT SFETTOM oy | & -

(i) Hiferer ST, 1=eg 20 TR 21
BigeRt, Toa; (Herfierd g1 sird &

(ii) Trsgufer Tk ST gRT Hiferas STfRrehmi
I, T 20 3R 21 I BISH,
fraftsq e

A. ()EE?

B. (i) @& e

C. (i) 3 (i) T a &

D. (i) 3 (ii) <1 et &

a9 2021-22 H WA o Fehel FoAaei | forg
& T ANTEH Hel T4 2

A FN

B. &

C. e
D. ¥ % wrereg &7
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106.

107.

108.

109.

What was G-777?

A. Organization of developing
countries

Organization of developed countries
Association of Asia countries
D. None of these

O w

When did the Simon Commission came
to India?

A. in March 1928
B. in February 1929
C. in April 1929

D. in February 1928

Manufacturing industry is important
because-

1. It provides employment in secondary
and tertiary services

Exporting of produced objects
increases the commercial trade
Reduces the regional inequalities.

N

1is correct
1 & 2 are correct
1, 2 & 3 are correct

OO0 ®p W

1 & 3 are incorrect

According to India State of Forest
Report (ISFR) 2011, the percentage of
forest is ---------- % of total India's area.

A. 21.05
B. 21.50
C. 22.05
D. 22.50

106.

107.

108.

109.

G-77 T AT?

A. forerrasfier 39T 1 dre
B. faesfia et =1 €mea
C. UfSTh w1 wire
D. T ¥ &S T

HTZH RHIIM WA hel 3TTT?
A. T 1928 "
B. BRI 1929H
C. U 1929 H
D. w1928 9

1. ¥ fgefrareh e qefforeh dameti § IS
IUAS A &

2. TAfifa gt o1 fata anforsy samam st
ELAGIE

3. ST STEHMATST 1 T HdT

1 &t

1,2 @&t

1,2,3@&n

1,3 TeAd

O 0o w>

sfeam e 3% BREE (ISFR) i fidie -
2011 3 SFTAR WA H 31 1 Fed &,
WA 6 e &ABA b --nmomn % &l
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110. What is the trend of Gross Non
Performing Advances Ratio of
Scheduled Commercial Banks during
March 2019 to Sept. 2021 in India?

A.

Increasing

B. Decreasing
C.
D. Erratic Trend

Constant

111. What is correct in the context of Article
3247
(i) Superintendence of elections
(it) Direction of elections
(iii) Conduction of elections
(iv) Control of elections
Shall be vested in a Election
Commission

A. (i), (ii), (iii)

B. (i), (iii), (iv)
C. (i), (iv), ()

D. (iv), (i), (ii)

112. Standard Longitude of India is-

A.

B. 80° 30

C.

D. 82°30

113. Earth takes
A.
B.

C.
D.

80° 15'

81° 30'

2 Minute
4 Minute
8 Minute
10 Minute

- minutes to rotate by 1°.

. R H 9™ 2019 ¥ fawsw 2021 & A4fer

& STgfaa anforfsare et & eha i)
FrreaTiea TR STTATAT i ST T 82
e

B

e &t 3t

IR =€ o T

o w >

. 3TTTHE 324 % HaH H FT L 27

() frater = erefeqor

(i) Trateat & e

(i) Tratemt =1 g=rem

(iv) Frat=at s

we fate s & fafea e
A. (i), (i), (iii)

. (i), (iii), (iv)

. (iii), (iv), (i)

. (iv), (i), (ii)

OO w

LRt s ge— fafe 1 a9 it =

. 10 Tufe
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114.

115.

116.

117.

WiMAX technology is related to :

A. Space technology
B. Dairy technology
C. Communication technology
D. Missile technology

What is correct about National Capital

Territory — Delhi?

(i) Chief Minister is appointed by the
President

(i) Ministers hold office during the
pleasure of President

(iii) Council of Ministers is collectively
responsible to Legislative
Assembly

A. (i)
B. (i), (ii)
C. (), (i), (iii)
D

. None of the above

Where did the Revolt of 1857 started?
A. Delhi

B. Jhansi
C. Kanpur
D. Meerut

Which statement is true for 'EL-NINO™?
A. Itis temporary warm current

B. Its presence weakens the trade
winds

C. Both A and B are false
D. Both A and B are true

114.

115.

116.

117.

WiMAX JrNiehl Geifed 2 :
A. 3Taie Srenfieht

B. <0 WrEnfireht

C. HoR Wrenfreht

D. firrser srenfirht

TS TTerT & — foeedt o fowr & wdt

T 27

(i) e i s ety F g A
STt 8

(i) #f=, Teeufd & JaTe v 79 Ug W
EEREIR

(iii) A=, forem @t o S amfee
Y U IEE Bl ®

A (i)

B. (i), (ii)

c. (i), (i), (iii)

D. 3wt H § 1 e

1857 1 fofsTe shel & i g o

A. feeef

B. sdr

C. HHI

D

. WS

"TA-T 3 G § ShI ET R G 22
A. T FEARA T ST ORI R

B. 3Heh! Sufkfd orgf o AT TaAT shi
e i

C. AT BTHITad
D. ATGH B3I @& e
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118.

119.

120.

What is correct regarding Cultural and

Educational Rights?

(i) Right to protection of interests of
minorities

(if) Right of minorities to establish
educational institutions

(iii) Right to administer educational
institutions

(iv) Constitution defines the

'minorities'.

(i)

. (1), (i)

(), (i), (i)

. (i), (i), (i), (iv)

OO W >

Which are mismatched:
(a) Biological Diversity Day —
25" December
(b) World Environment Day — 5" June
(c) Ozone Day — 16" September
(d) Earth Day — 22" April
(e) World Wildlife Day — 31% March

A. (b)and (c)
B. (c)and (d)
C. (@) and (e)
D. (b)and (d)

MnO, +4HCl = MnCl, +2H,0+Cl,
is a-

A. Combination reaction

B. Decomposition reaction

C. Displacement reaction

D. Redox reaction

118.

119.

120.

qieanicen I fRrer awsief} S1feepm o foawr

T T T 22

(i) STUHEISE S o f&l T HTETT T
ATERR

(ii) TeTeqor EEUTT Y TATIHT T ATHEIH
T T STRIFR

(iii) T3T&T0T GREerTT BT JRTTE S T
ATIHR

(iv) Eferem sreudees i afefyag

HAT T

(i)

(1), (i)

(1), (ii), (iii)

(1), (i), (iii), (iv)

et o i g fera T8 & -

(a) Starfarfererdm fae — 25 femrr

(b) forg wriaer foaw — 5 5

(c) TS feaw — 16 faarer

(d) geaft feae — 22 o1«

(e) Ty ashias feam — 31 7=

A. (b)TdE (o)

B. (c) W (d)

C. (wi(e)

D. (b) T (d)

Cow>»

MnO, + 4HCIl = MnCl, +2H,0 +Cl,
QEF%

A. TIISH TffsRa

B. forereT stfufsran

C. o st

D. S sffsham
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Current Affairs THOTHRS 9T

121. Nobel Prize 2020 for Peace is given to- 121. e S EEHR 2020, for8 o T
A. World Food Programme -
B. United Nations Peace Mission A. g @ s
C. United Nations Development B. gh g wmi=a fore
Programme C. WWWW
D. United Nations Environment D doue T e S
Programme > "
122. |n Chhattisgarh, 21 Vasundhara 122. offeTe # 21 T SFa §WH, 2021
Samman, in 2021 is given to- foper feam Mo £-
A. Saba Anjum A. Te 3iSH
B. Satish Jaiswal B. TSt STIgaTe
C. Kusum Khemani C gy Ty
D. Indulekha Vijay Nayar D. saﬁw%mrw
123. Second largest food park of the country 123. 237 1 GO W ST B UTeh ------- |
will be established in- Tefuq fepam stmam)
A. Dhamtari District A. gadd S o
B. Raipur District B. TaR e
C. Bastar District C. a'{:a\;f\aﬁﬁ
D. Jashpur District D Wﬁ'ﬁﬁ
124. Who has been appointed as the new 124. Iz TS 1 44T CEO ford smam mam €2
o A
B. Vinod Kannan B. fore F=
C. Ajay Singh C. o fiw
D. Ashwani Lohani D. 37t et
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125.

126.

127.

128.

129.

130.

Lemru elephant reserve is situated in
which district-

A. Raigarh
B. Jashpur
C. Sarguja
D. Korba

The number of Upnishad is-

A. 04 B. 11
C. 101 D. 108

Kalma Barrage is located at-

A. Mahanadi River in Janjgir-Champa
district of C.G.

B. Godavari River in Orrisa

C. Hasdeo River in Korba district of
C.G.

D. Indravati River in Bastar

National Corona Help Line number is-
A. 1015 B. 1025
C. 1075 D. 1050

Author of the book “The Presidential
Years” is-

A. K.R. Narayanan

B. Pranab Mukharjee
C. A.P.J. Abdul Kalam
D. Pt. Jawaharlal Nehru

The number of Ramsar Sites in India
upto December 2020 is-

A 27 B. 62
C. 72 D. 42

125.

126.

127.

128.

129.

130.

TIHE Teithee {oTdl forg ot o ferd &-
A. TG

B. SR

C. qursn
D
JqTIaT sht T &-

A. 04
C. 101

B. 11
D. 108
SHeTHT SISt feord 8-

A. IS & SerR-=mT 5t § qeme
W

B. ST H Mered] 7d 1T
C. TG & hRET STt A gHeT Tt 0T
D. &R H ggrad! 7el I

TSERT RITHT UATS T 8-
A. 1015 B. 1025
C. 1075 D. 1050

“T SEIEToae € AT T o e o
A. . IR, TREH

B. Jure qusif

C. U L. Sl g el ™

D. 9. e g%

TRaay | fewdsw 2020 i feurfa § o
T T Fe AT &-

A. 27 B. 62

C. 72 D. 42
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131. In Chhattisgarh state, Godhan Nyaya 131. eftaTe e =AY AT 31 MR fora

Yojana is started on- -

A. 06 October 2020 A. 06 TFST 2020
B. 20 July 2020 B. 20 \—,\@—g 2020
C. 01 January 2020 C. 01 SHaf 2020
D. 16 October 2020 D. 16 31527 2020

132. $-400 air defense system is related to 132. 3-400 =T T&T YoITe! & Helf-ore o1 &-
re CC(:)rl:ir:arly- B. Russia A i
C. America D. France C.. st D. %

133. The person of Chhattisgarh who was 133. e 1 98 SAfh o/ &9 2021 & fofg
awarded by Padmashri in the field of art e (Feft o) o & H Tre TERR YeH
(Panthi dance) in 2021- ERIRICIS
A. Teejanbai A. deaTS
B. Saba Anjum B. T ey
C. Madan Mohan Chauhan C. merHET SRR
D. Radheshyam Barle R —

134. XXXV Olympic game (2032) will be 134. XXXV 3 Atk Tt (2032) T SARASH
held in- =
A. Doha (Qatar) A. R (F) |

. Barcelona (Spain) B. s (&)

. fomam emefomm °

B
C. Brisbane (Australia) C
D D. Raiier (afoft i)

. Seoul (South Korea)

135. |ndian National Army was established 135. gfogas Sxmer ST il ST i 9T 8-
i\y-Sbh h Chandra B A G ER
. Subhash Chandra Bose ,
B. Capton Mohan Singh B. e e
C. Capton Ram Singh Thakur C. & TmfEE 3T
D. Bhagat Singh D. wia fég
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136. The District Child Protection Committee

137.

138.

139.

General Knowledge of the
State

of Chhattisgarh state is headed by the
President-

A. District Collector

B. Constituency MLA

C. District Court Judge

D. District Panchayat President

When was the ‘Chhindak Nag’ dynasty
established in Bastar?

A. 1333A.D.
B. 1324 A.D.
C. 1132 A.D.
D. 1023 A.D.

Name the poet of Ratanpur, the author
of ‘Radha Vinod’ Khand poetry-

A. Babu Rewa Ram
B. Gopal Mishra
C. Makhan Mishra
D. Khande Rao

The following ‘Non revenue receipts’
do not form the part of income of the
Chhattisgarh State Government.

A. State Excise duty

B. Dividend received from public
sector undertaking

C. Service tax
D. Corporation tax

136.

137.

138.

139.

T <kl ATAT AR

BTG TSI o {STAT SITed TTeTuT |ffe aht
3TEET B &

A. e Ferget

B. Fate &= & faames

C. {5t =maner & =maefter
D. fSrer v o 31eTe

S H “feeash ARTSRT ST TATHHT el T3
off?

A. 1333 A.D.
B. 1334 A.D.
C. 1132 A.D.
D. 1023 A. D.

T fo1e” @UE HTed % AT, TR
ohfel T AT 2-

A. SEETTH
B. Traret fsr

C. #req fay

D. @t

et it Tt wift s<fierTe Tsa it
T o T 1 feredm 72 2

A. TST 3H1E eeh

B. WA &5 o JUSHHAT § ITH AT
C. AT (Service Tax)

D. M
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140.

141.

142.

143.

The festival celebrated on the third day
of Shukla Paksh of Vaishakh month in
this state is-

A. Tija
B. Akti

C. Hareli
D. Bhojali

The objective of “Narva” component of
Chhattisgarh state’s famous scheme
Narva-Garwa-Ghurwa-Badi is-

A. Protection of rain drain
B. Construction of small canals

C. Construction of canals in tribal
villages

D. None of the above

During the Jungal Satyagrah of 1930 in
this state, in which place did Dayawati
slap the S.D.O. in the Jungal
Satyagrah?

A. Rudri
B. Tamora
C. Pondi
D

. Nagari — Sihawa

The following are the tributaries of the
Narmada flow system of this state.

A. Morani
B. Bajar
C. Gobari
D

. Sindur

140.

141.

142.

143.

$H ST W ST HIE o6 Yo 98T o gt
EEREIREIPEIE ISR

GIEl
FeFdT
gt
SIS

o w >

SATETE TS hl SATITITH ATSHT FLET-TRET-
EET-SITE o TIeeh, “TET” T T&T L9 &-

A. STETT T ST TET0T

B. BT & fwfor

C. rfearel wmdi & rett st fwior
D. 3Urk 8 & 1S e

ST T 1930 % ST TcATE & G0,
gTat o fohe T o STl TedTE o
Ty, €. 3. I qHmET 7T 912

A. &5t
GEIEy
i<t
D. T —fagmar

O w

39 TS Y THET JaTg JurTeft Y Gerreh Tdt
ffafaa 2

O 0w >
4
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144,

145.

146.

147.

Plural of Chhattisgarhi word ‘Mankhey’
is-

Mankho

Mankhey

Badmankhey

o w>»

Mankheman

In the Present schemes of this state, the
following scheme is not a Justice
scheme-

A. Rajiv Gandhi Farmer ---- Scheme
B. Godhan ----Scheme

C. Chief Minister Special Health ----
Scheme

D. Rajiv Gandhi Rural Agricultural
Labour ----Scheme

‘Shringar Rasa’ is not found in the
following folk song of this State-

A. Dadaria
B. Fag

C. Bhojali
D. Suageet

Who was the leader of the opposition of
the Second Legislative Assembly of this
state?

A. Mahendra Karma
B. Dharamlal Koushik
C. Ravindra Choubey
D. Nandkumar Say

144.

145.

146.

147.

SIS AT § “HE” T Sgar= Il -
A. TF@l
B. T@
C. aTgHTd
D. TFEHA

39 ST T I ATt § fmfafaa
A. TSfa et e ---- AiSrT

B. YA --— AT

C. T foiy T - AT

D. it el areior % HTeR - ST

9 ST o (HfTiad AekiTd § TR ™
T T ST 2-

A. zaf@r
B. W

C. orSett
D. gamiia

39 TS o foqefar forem | o =T wfaaet
I A2

A. TS FAf
B. SRHAT 3Tk
C. o=

D. d<hHATHET

D
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148.  According to the tradition, Guru who 148. 3@ TS T FHel G HT AT SHRAST

e_stablished_ Damakhedq the pilgrimage Wa;@mﬁg{a, T W%ﬁ
0 Gur of which generation? Frarspe®
A 12t A 123
B. 10t B. 104
C. 13" C. 139
D. 14" D 145
149. What is the name of ‘Social Harmony’ 149. TdrerTe ST & ‘GRS HHLEAT GFH
honor decoration in Chhattisgarh State? ST T AT &-
A. Maharaja Agrasen Honor A. RS ATYT TE
B. Yatiyatanlal Honor B. Ifaaas dre 99T
C. Pt. Sundarlal Sharma Honor C. Y gratelet 79t g
D. Gurughasidas Honor D. w\;ww
150. What is the hindi meaning of 150. SefterTel |t 7 HIery” 1 o=t 7 a1ef
Chhattisgarhi language word &
“ONHARI?
A. Khalihan A. ST
B. Rabi Fasal B. it %
C. Kharif Fasal C. ©l% %o
D. Dalan D. @M
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SET-A

IR Thd T /T T ; 3Ee

Time for making answers : 3 Hours

e

1. 38T qftaent & fawr s g -

T - (F)  HrI Haelt 7 -
T - (@) | =t -
[T 0T -
ORT- (1) (37) ATHT U arear -
() AT A -
() quaATHRE "geAT -
(%) T<T Y AT AHEBRT -

1-20
21-30
31-40
41-70
71 - 85

86 - 120
121 - 135
136 - 150

T 2T 1 31 T8 | FeT 150 T i A-ard @
2. T % ST,  TE OMR ITIE (ATEe) WX sifera hifvm |

3. ToTd 37X 3ifehd ot W Y4 3Teh 1 STRAT |

Frfereraw 3ik : 150
Maximum Marks : 150

4. Tordlt oft T o FAFHC AT AN Cae U HITSSA Wi T Ta0T AR 8 |
5.  OMR ITNE (SATATINE) ST TNT Shid THIT VET I3 SATTLTHT T hi/ald ™A I8 we Iy It
ITH e a1 faerae onfe ug IR e wetasu ag T B W |

Note :

1. This Question Paper consists of Parts namely :-

Part - (A) Computer Related Knowledge
Part - (B) General Hindi

General English

General Mathematics
Part - (C) (a) General Mental Aptitude

(b) General Knowledge

(c) Current Affairs

(d) General Knowledge of the State
Each question carries 1 mark. All 150 questions are compulsory

a > N

or spoiled due to folds or wrinkles.

Y4 mark will be deducted for each wrong Answer.

1-20
21-30
31-40
41-70
71-85
86 - 120
121 - 135
136 - 150

Indicate your answers on the OMR Answer-Sheet provided.

Use of any type of calculator or log table and mobile phone is prohibited.
While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
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